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Half of the cakes in a box
of 10 are gone.

How many cakes are left
in the box?
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How much altogether is
5p + 2p + 1p?
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Some hens lay 2 eggs, 4
eggs and 3 eggs.

How many eggs did they
lay altogether?
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Lisa has 5 pens and Tim
has 2 pens.
How many pens do they
have altogether?

How many more pens has
Lisa than Tim?

Year 1Copyright 2012 www.tpet.co.uk

Scores in a game are:
Josh 2 + 3
Sam 3 + 5
Nya 4 + 2
How many did Sam and Nya 
score altogether?
How many more did Sam
score than Josh?

Year 1Copyright 2012 www.tpet.co.uk

I think of a number, then
add 2.

The answer is 7.

What was my number?
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